Copyright Lappset Group Ltd

% LAPPSET.

112350

CLUB DATE:  20.12.2010 1(2)
(1) 001100 |Pes|(2) 009906 [pes
1 4
(3) 901797 |pes|(4) 909895 [pes
4 il
(5) 009910 |Pes|(6) 905197 [pes
1 1
. M | B
BLACK
(7) 009917 |pes|(8) 909215 [pes
1 4
B .. _/@ i
+2350 2
+1800 - —
MINIMUM +1800 mm M16x280
MINIMI #1800 mm (9) 905139 |pes|i0) 903158 [pes(11) 909520 |pes|
8 8
2
’ 40
DET 1-3 — ) BLACK me | | e3017 | |
(12 909852 |Pes(i3) 909633 |Pes({4) 980151 |pes
1 8 19
SPARE PART oY
700934, 7
VARAOSA
700934. — B 8x30 M8 216,/8.4
U I U e (19 909251 |pes(i) 909851 [pcs|i7) 906502 |pes]
E| £ 2 16 8
ol £ — — —
28 % @W /M
- O
+|
S| ¥
| —=
== - - -
e M8x100 8x55 M8x90
905097 [Pes|(19) 702341 [pes pes
~ & 1] u
mie | | B N




Copyright Lappset Group Ltd

% LAPPSET.

112350

CLUB DATE:  20.12.2010 2(2)
DET 1 DET 2 909215 DET 3
Sand 0.2—2 mm/ 009917
Concrete Cravel 2-8 mm O
800x800x350 ©

i

e

’ ’
, L N
P
4 I
4 ’ s
. 4 e
o # R - .| e 40 ror

2 o Reinforcement steels
o @8 #90
DET 4 905097/

230,17

DET 6

016 /8.4
M8x90

909895

EN Impact Area 30.7 m2
Max falling height 1000 mm.

Additional Area, no obstacles

Esteeton lisdalue _

\
No soft \
surface N\

6250
8250

required N
Ei RN

. . ~
iskunvaimennus >< ——

vaatimusta






